Efficiency vs Dxy(PV)
0.2

0.

5 =36-15-10 —5

5 10 15 20 25
TP dxy(PV) (cm)

0

[ Efficiend]

—=— DQM_TT__CKF_ORIG
—— DQM_TT__CKFLowPtT_ORIG
—— DQM_TT__CKFLowPtT_MODIF

1.2r

efficiency vs dxy(PV)

Ratio

'i.’..
‘|

E‘

T

21-0.8-0.6-0.4-0.2

Efficiency vs Dz(PV)

0 02040608 1
TP dxy(PV) (cm)

s 12p —

g [ : : : :

¥ I : : : :

@ e R meswereeees

> B . . . .

> I : : : :

Q r . . . .

3 0.8 peeelaee SEREED PR

g : : : :

E T : : : :

@ o . . . .
0.6 PR ERRERD PR
0.4F- Sroefedeeneed et
0.2f--- e Beofp i eeds Beeees

[ i i i i

o +® '

T .

@ .

- e [OREY | ¥ R A P R
0. . . . .
=20 -10 10 20

Efficiency vs Dz(PV)
0.5

tl) 30
TP dz(PV) (cm)

N

o

efficiency vs dz(PV)

0.5

.5

1
TP dz(PV) (cm)




	Contents
	Page 1


